Permutations and Combinations Lesson #8: The Binomial Theorem 439

ASSIgnment
1. Determine a)thc_mgg“_tgfrmof(x+y)15 b) the middle term of (p + ¢)'>  Yerm F.
= + = 0l XMK K = ¢ {
K_\Dsj ke TRURT 0L \"\9 *1“\&%?‘»‘
n* tay = gl Xy n= i 1, - 934p%
Fyzlovx Y™

2. Use the binomial theorem to write the expansion of (x + 8. | D s e
¢Caryt pg gy
L | 1M 5,S 3 1., &
= X ’r%x"j +3‘Kxbva’k§(oxf35f—]ox q o XN +—9\%)<\{ ngtj Jrj

3. Find the indicated term of each expansion.
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4. Expand and write in the simplest form:
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5. Find the indicated term of each expansion.
a) the term in x> in (1 - 2x)!2 b) umtenn.u@m(3x y)’
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6. a) One term in the expansion of b) One.term in the expansion of
(x +a)® is 448xS. (x + ) is —4455x8.
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7. Find the indicated term of each expansion.

6
a) the constant term in the expansion of (x2 - l)
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ALSIIREES. In the expansion of (x - 3)3, the numerical coefficient of the third degree term is
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NUDRIRIE10. [f (2x + 3)°" * * has 38 terms, then the value of n is
(Record your answer in the numerical responsc box from left to right.) l \
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11. The term in x'! in the expansion of [ x* + ~ ’ has a nurnencal coefficient of
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12. In the expansion of (3x + 2y)6, the numerical coefficient of the term containing x“y2
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13. A term of the binomial expansion (cx + y)®, where c is a positive integer, is 42xy°.
The value of c is
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Answer Key

1. a) 105x13y2  b) 924p%¢°

2. x%+8x7 y+ 28x6y2 + 56x5y3 + 70Jc4y4 + 56Jc3y5 + 28;r2y6 + 8xy7 + y8
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